= AH O
N = 0 &8 AF S & Al A
2000 &= =20l A LB A
SN 4
Mz NEZX SIS MADIEE 2=
CHR|: AlZ¥Ol OFE N MAD|EE x (&2 &2
- _ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @,;OH Hns
St 194,779,478 195,208,284 AN428,806
= 157,445,009
g 7,689,000
J| 4,755,000
= 24,890,469
NEE S Mot 2= 194,699,678 195,128,484 N428,806
= 157,445,009
g 7,689,000
Dl 4,755,000
= 24,810,669
ASEO| OF™ A MAD|IBE = 2,828,546 2,690,560 137,986
H 2=s22% dXA3 960,000 920,000 40,000
308 AHXIEHMSOIA 10,000 0 10,000
01 XXNHHBIAEXZ 10,000 0 10,000
OftNg s g4 X 10,000
403 ANXSHHSAE0H 950,000 920,000 30,000
01 XXESHMA2EE 950,000 920,000 30,000
O 2=SS2& 4x1X& 950,000
S HOlg X 24XH 480,000 300,000 180,000
403 XNXESHHSA=20IN 480,000 300,000 180,000
01 XXESXMASEX 480,000 300,000 180,000
O=SCH HOISIEX 41
200,000,000 * 16t X x15% 480,000
S OLMALE EHIX& 110,000 320,000 A 210,000
403 XXISHHSA20|H 110,000 320,000 A 210,000
01 XXSHHIA2EX 110,000 320,000 A 210,000
Oz OtMAIE &H| 110,000
HMEOHD| XI& 240,000 240,000 0
403 XXEHHMSA=20IH 240,000 240,000 0
01 XAXESHMASEE 240,000 240,000 0
O M ot XI& 300, 000& *4,000CH *20% 240,000
T=ES A MMOX SHXR 36,000 36,000 0
403 XNXESHHSA=20lN 36,000 36,000 0
01 XAXESXMASEX 36,000 36,000 0




2A: sS4
H: NEE sHE MAD|E 5
CHRl: AlZFO| OFE N MAD|EE = (ctel- e
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES Ol & Om/?o” Hns
OFEg & MACLT 44X
80,000,000 *3 &t X| *15% 36,000
NEE sHt=E Mab|et 25 AR2FA 7,560 12,960 A5,400
201 Yer2H| 5,160 5,160 0
01 AtR22id] 5,160 5,160 0
OLNEZE 42 Mad|er 25 5,160
203 YRFL&Y| 2,400 2,400 0
03 AMF=AAIFZAH| 2,400 2,400 0
Osdgex=x 2,400
sgadA B8 994,986 831,600 163, 386
308 AHXIEHXMISOIA 994,986 831,600 163, 386
01 XXNHMBIANEXZ 994,986 831,600 163,386
Osgol oMzl 2 s&2 Mol2g=
K& 994,986
HEtHd =08 X4 41,588,556 29,687,013 11,901,543
= 27,633,361
T 13,955, 195
BEENE Ns&dlzg A& 8,996,000 7,344,656 1,651,344
403 XNXSHHSAE0N 8,996,000 7,344,656 1,651,344
01 XXSHMIA2EX 8,996,000 7,344,656 1,651,344
OMBIHA 2ha 0|52 7,821,000
OMEBIHAE 2ha =E 1,175,000
et sHAP2ELAE 1,820,000 1,820,000 0
= 1,400,000
= 420,000
403 XXM SKH201H 1,820,000 1,820,000 0
= 1,400,000
= 420,000
01 XAXESXMASEX 1,820,000 1,820,000 0
OXstE=sdN+=E2Yd
500,000, 000& *7IH A %52% 1,820,000
= 1,400,000
= 420,000
ELMEH EXAS 10,800,040 9,866,700 933,340
= 9,564,480




2A: sS4
HH: DEI S42 MADIE S
Chel: MBA=QI XN (oA
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ELMSH EXAS T 1,235,560
403 XXM SKHE01H 10,800,040 9,866,700 933,340
= 9,564,480
= 1,235,560
01 XXESMA2SEEX 10,800,040 9,866,700 933,340
OELMNTHSSAL (4 8,505,000
= 7,560,000
T 945,000
OEUYMNHH2SAIE (L3]) 2,255,040
= 2,004,480
T 250,560
OHES HEAY 160,000, 000& *25% 40,000
SIIAH LA 5,850,000 2,080,000 3,770,000
= 4,500,000
== 1,350,000
403 XNXESHHSA=20IN 5,850,000 2,080,000 3,770,000
= 4,500,000
== 1,350,000
01 XXSHMA=2EX 5,850,000 2,080,000 3,770,000
OSIIH Y AR
1,000,000, 000& *9IH A x65% 5,850,000
= 4,500,000
o= 1,350,000
HAEEZ W2 HSLHASY 1,017,900 1,032,500 A 14,600
= 783,000
== 234,900
308 AXIEHXMSOIA 1,017,900 1,032,500 A 14,600
= 783,000
= 234,900
01 XXNHHBIAEZXZ 1,017,900 1,032,500 A 14,600
OXXEZHSE M ALY
6,525,000& *400ha*39% 1,017,900
= 783,000
< 234,900
=HI &2 S XA 465,678 346,500 119,178
= 310,452




2A: sS4
HH: DEI S42 MADIE S
Chel: MBA=QI XN (oA
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
=HI&ZE SAU XA T 155,226
403 XXM SKHE01H 465,678 346,500 119,178
= 310,452
= 155,226
01 XXESMA2SEEX 465,678 346,500 119,178
OZZ2EIIRI| AFY(3,137ha)
620,904, 000& *75% 465,678
= 310,452
== 155,226
TSESAME AT AFS XA 25,000 15,000 10,000
307 21201 H 25,000 15,000 10,000
02 012t AE X 25,000 15,000 10,000
O EE o2 MAXH AFY XI& 25,000
B =42 IEH XA 76,500 90,000 A 13,500
308 AXIEHXMSOIA 76,500 90,000 A 13,500
01 AXSHHIABELEZ 76,500 90,000 A 13,500
O S42 ABH X
300,000& *1,70021 * 15% 76,500
sl =HsSIIE XA 90,000 75,000 15,000
403 XXISHHSA20|H 90,000 75,000 15,000
01 XXESHA=2EX 90,000 75,000 15,000
Og9sHJIZ2 =HE8I18 XA
500, 000-& *600H *30% 90,000
EtFA=Y HELS ZEAME XH 60,000 60,000 0
403 XXM SK201H 60,000 60,000 0
01 XAXESMASEEX 60,000 60,000 0
OxBA=Y HEIIS ZA
100,000, 000& *2 4 A~ *30% 60,000
HEtASMZE OHEXNZ0 2HA A 11,400 15,400 4,000
308 AXIEHSOIE 11,400 15,400 A4 ,000
01 XXNHHBIAZXZ 11,400 15,400 24,000
ORSA SHS HEIIZ0| 2 (15748t
22,800,000 *50% 11,400
HNEHS K A 300,000 300,000 0
403 XXM SKH20lH 300,000 300,000 0
01 XXESHMA2EE 300,000 300,000 0




2A: sS4
H: NEE sHE MAD|E 5
o AEdsHIIe &4 (ctel. e
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
OX&H =X K&
1,000, 000& *2,000ha* 15% 300,000
SIH S=X& 861,000 871,875 A 10,875
403 XXSHHSA20|H 861,000 871,875 AN 10,875
01 XXSHHIA2EX 861,000 871,875 A~ 10,875
OsJIH 2S2XH(BEd8E 220 £ 118) 861,000
d2) d3&s XX 44,500 120,000 75,500
403 XXISHHSA20|H 44,500 120,000 75,500
01 XXHHIA2EX 44 500 120,000 75,500
Oda)| J3&s 4x N 44,500
S ASHAMNE XS A XA 1,737,159 1,600,000 137,159
= 1,737,159
308 AHXIEHHMSOIHA 1,737,159 1,600,000 137,159
= 1,737,159
01 XXNHMBIAEXZ 1,737,159 1,600,000 137,159
OXSHASHXEIE MY X 1,737,159
-= 363,753
= 363,753
g 1,373,406
= 1,373,406
JHAEHNEXN=AISE XS 194,419 99,382 95,037
= 172,270
= 22,149
308 XXIEHHMSOIA 194,419 99,382 95,037
= 172,270
== 22,149
01 XXHMBIAEXZ 194,419 99,382 95,037
OF2EBXMATISAISE XA 194,419
-SHEZ 1,000, 000& *156ha*79% 123,240
= 109,200
& 14,040
-OtH&EZ 1,700, 000& *53ha*79% 71,179
= 63,070
= 8,109




AN s
HH: DEI S42 MADIE S
Chel: MBA=QI XN LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
=II 2z XA 9,106,000 3,780,000 5,326,000
= 9,106,000
403 XXIEMS K201 9,106,000 3,780,000 5,326,000
= 9,106,000
01 XXESHI=2EX 9,106,000 3,780,000 5,326,000
SO Z2X& 58,000& *157,000& 9,106,000
= 9,106,000
HEE se=E S8 dst AIAMY 120,000 0 120,000
= 60,000
= 60,000
307 glz2told 120,000 0 120,000
= 60,000
= 60,000
02 fltFaEx 120,000 0 120,000
oL EECWELIEE Vb
80,000& 1,500 120,000
= 60,000
= 60,000
deEdsgy 2d 32X J# 12,960 0 12,960
308 AHXIHXMSOIH 12,960 0 12,960
01 XXSHHBLAEXS 12,960 0 12,960
OAEAYSY LA XL
8,000 302 1271 & 15 Al =2 *30% 12,960
OIS MADIBE AIE &5 22,040,410 27,416,528 Ab5,376,118
= 2,714,546
s 7,689,000
| 4,755,000
L= 6,881,864
FTAD| = Mtalds RS XM 4,439,500 7,575,957 A 3,136,457
| 3,415,000
& 1,024,500
403 TXIEMSAH201H 4,439,500 7,575,957 N 3,136,457
Il 3,415,000
= 1,024,500
01 XXIEHX2EX 4,439,500 7,575,957 N 3,136,457




2A: sS4
nEEN|

Mo DEL SH2 M) X
ol ROISE MM AlE BE (E9): & @
SA-EFH - SA(SAH) - MREAY - BES Off &F K ggi Blusz
OFTAJI 2 BHa M4 S SIS A (672.3na)
13,660,000, 000! *32.5% 4,439,500
p] 3,415,000
< 1,024,500
D42 HHIXE 408,910 171,231 237,679
2 314,546
< 94,364
308 KHAIEHSOIA 408,910 171,231 237,679
=2 314,546
< 94,364
01 RXSHBYRES 408,910 171,231 237,679
ODt4 2 FH| X & (260ha) 629,002, 000! *65% 408,910
= 314,546
< 94,364
NoiS3ES SHALXE 6,828,000 9,665,000 12,837,000
= 5,689,000
= 1,139,000
403 XXEHSKHE0IH 6,828,000 9,665,000 2,837,000
= 5,689,000
< 1,139,000
01 RXNSHXE2E 6,828,000 9,665,000 12,837,000
ONSSSHESSHAMLNA(BESR) 6,828,000
= 5,689,000
= 1,139,000
AMTE SME SHAY 3,120,000 1,560,000 1,560,000
=2 2,400,000
= 720,000
403 RXSHSKHZO0IH 3,120,000 1,560,000 1,560,000
2 2,400,000
= 720,000
01 RXESHIERE 3,120,000 1,560,000 1,560,000
ORMZSEHES S ALY
6,000,000, 0002 +27H £ *26% 3,120,000
= 2,400,000
= 720,000
AE S0 RN A A 1,534,000 2,240,000 706,000




AN s
MH: DEN SN2 MADIE P
el ROISH MADIB AL =S (el &2)
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
ANEKUHSEMNE AL Il 1,180,000
& 354,000
403 XXIEMS K201 1,534,000 2,240,000 A706,000
Il 1,180,000
= 354,000
01 XXIEHX2EX 1,534,000 2,240,000 A706,000
OANE20SEMSAS (20HL)
5,900,000, 000& *26% 1,534,000
Il 1,180,000
= 354,000
FTAD| 2 WA EHES LAY 280,000 0 280,000
Il 160,000
& 120,000
307 QI2toIH 280,000 0 280,000
Il 160,000
< 120,000
02 PItAa=Ex 280,000 0 280,000
OFTAD|2 WAEdE SEAIY
400,000, 0003 *70% 280,000
p) 160,000
= 120,000
ot e =MZEE HAXH 2,000,000 0 2,000,000
s 2,000,000
306 &A= 2,000,000 0 2,000,000
s 2,000,000
01 E¢3 2,000,000 0 2,000,000
OetHE IMEEE 2 A 2,000,000
s 2,000,000
= FLAI HUSZ o 132,000 129,900 2,100
403 XXIEHSA=01H 132,000 129,900 2,100
01 XXIESHX=2EX 132,000 129,900 2,100
O+ERUE2 MHEZ e
44,000, 000& *20ha* 15% 132,000
LI FUHSE SIAIE K2 100,000 105,000 5,000
403 XXISHMS K201 100,000 105,000 25,000
01 XXSHHIA2EX 100,000 105,000 25,000




2A: sS4
nEEN|

Mo DEL SH2 M) X
ol BOISE MADIE NS EE (E9): & @
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol AF o8 HusZ
OLIZUSHLLEZHUSRAIL 100,000
ANEHA D2 X ZZAILX S 1,237,500 1,237,500 0
408 X XESHSKE0IH 1,237,500 1,237,500 0
01 RXSHK=2E 1,237,500 1,237,500 0
OMEMA OLURRZ L BN 1,237,500
NERHRS ARTHYX 210,000 210,000 0
403 KXESHSKH=O0IH 210,000 210,000 0
01 RXESHI=2E 210,000 210,000 0
OFTAHS =SSIRAHLX X &
1,400,000%! *1,000na*15% 210,000
222 303 29 8,000 8,000 0
201 Ypre o] 8,000 8,000 0
01 AtR2lH| 8,000 8,000 0
OZ=g 893 29 2,000, 0008 +43! 8,000
RS DEIMAAIEAY 207,500 578,000 370,500
408 XXIEHSKHE0IH 207,500 578,000 370,500
01 RXSHK=2E 207,500 578,000 370,500
ORNES DEIMMAEAY
200,000, 000! *55 * 15% 150,000
ORI=ES HIJI AIE S(52)
230,000, 000! *25% 57,500
D20 S0 SIHX & 440,000 480,000 40,000
403 XXESHSKHZO0IH 440,000 480,000 40,000
01 RXSHK=2E 440,000 480,000 40,000
ODLR0SIH S| AKX 440,000
BN SH S N 270,000 300,000 £30,000
403 KXISHS KO0 270,000 300,000 £30,000
01 KXSHI=Z2E 270,000 300,000 30,000
OB+20ISIt SsXMHXI 270,000
B0 H2HMED LXK 525,000 525,000 0
408 K XIESHSKE0IH 525,000 525,000 0
01 KXCSHI=ZEE 525,000 525,000 0
OB+E0SI NSHE DL X &
35,000,000 * 1005+ 15% 525,000
DEY HMAAL AL 150,000 150,000 0
|




2A: sS4
nEEN|

Mo DEE SAS MBS
Sl ROISH DB AL =S (S5 & 2)
_ _ MNuE o
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
403 THXISHSKHZO0IR 150,000 150,000 0
01 XXISHH =R E 150,000 150,000 0
ODBE 544 AIE A X & 150,000
Sl +EAYH SHAL 150,000 150,000 0
403 TIXIESHSKHE0IT 150,000 150,000 0
01 KISHH =R E 150,000 150,000 0
Ostsl+ 2B IS
100,000, 0002 * 10JH £ +15% 150,000
DEI HUSH AHEF JlY 7S 128,242, 166 135,334,383 A7,002,217
= 127,097, 102
= 1,145,064
BASBHUFNZ AL B 28,000 28,000 0
= 28,000
201 L2yl 10,000 10,000 0
= 10,000
01 AFR2elt] 10,000 10,000 0
ORASS BENFAEMY =X
625,00024 * 1674 Al 2 10,000
= 10,000
202 OfHl 18,000 18,000 0
= 18,000
01 =Uhoib 8,000 18,000 0
ORASS BENFAEMY =X 18,000
2 18,000
BASS SHUFNZAMY N 120,480,000 120,482,000 A2,000
= 20,480,000
308 XSSO 120,480,000 120,482,000 A2,000
= 120,480,000
01 RASHMBLRES 120,480,000 120,482,000 A2,000
OMASS SHNFNSAIY 7 Za|
X2 5,000,0002! * 1674 Al 2 80,000
= 80,000
ORASS BHNFAZAMY X
700,0002 *172,000na 120,400,000
2 120,400,000
EAZAXN A HFNEAL X2 1,007,784 1,085,501 12,283




FAN: sah
MH: DEI M2 MAD|E 2=
Chel: DEX SUCH AHEA Y 1S (9l &2
SN S(B) - NRAY - B2 O] &k o8 e =2
TA2cXg AFXEAMY XA = 972,720
& 125,064
308 XXEHMSOIE 1,097,784 1,085,501 12,283
= 972,720
& 125,064
01 XXSHHILAEES 1,097,784 1,085,501 12,283
OZXH=elXSG HEXNEAMY =& ZAH|
A& 3,400,000 * 15 Al T2 *79% 40,290
= 35,700
= 4,590
OXxzd=2cXd HEX=SAtY X2
300,000& 4, 462ha*7%% 1,057,494
= 937,020
< 120,474
O=23&Xeld AZHEAE XA 3,070,000 7,367,500 24,297,500
= 2,810,000
& 260,000
403 XXM SX20IH 3,070,000 7,367,500 24,297,500
= 2,810,000
L= 260,000
01 XXX A2EX 3,070,000 7,367,500 24,297,500
OSBRPC(2H2) 900,000, 0002 *2JH A *53% 954,000
= 900,000
= 54,000
OZS& X2 (8MA) 550,000, 000& *8IH 2~ x43% 1,892,000
= 1,760,000
= 132,000
OM2F (1) 300,000, 000& *1JH 2~ *53% 159,000
= 150,000
= 9,000
O M2MEAL 130,000, 000& *50% 65,000
NBE 4 2t S4AMY 3,150,000 3,410,000 A260,000
= 2,700,000
= 450,000
308 AtXIEH X SO0I& 390,000 650,000 A260,000
= 300,000




AN s
HH: DEX S42 MADIE S
Chel: DEX SUCH AHEX Y 1= LR
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
308 AHXISH X SO0l& = 90,000
01 RXSHNBHNEXZ 390,000 650,000 260,000
OLZEY BHHE SHAMNS EE
200,000, 000& *3H 2 x65% 390,000
2 300,000
< 90,000
403 XXISHMS K201 2,760,000 2,760,000 0
2 2,400,000
= 360,000
01 XXIESHX2EX 2,760,000 2,760,000 0
OLBEA Bt MY S0s
2,000,000, 000 *374 2~ *46% 2,760,000
= 2,400,000
& 360,000
gz BAEBT(AZ) 45,000 45,000 0
= 45,000
308 AtXISH X SO0I& 45,000 45,000 0
= 45,000
01 XXSHHBLAEXS 45,000 45,000 0
Og=a2el BHEX 2,812,500 160 Al = 45,000
= 45,000
32| A AL 61,382 61,382 0
= 61,382
201 Lt 3| 34,382 37,382 23,000
= 34,382
01 AtE2teldl 29,382 37,382 28,000
ogegdgl 22,182
= 22,182
Or=1=1:] 7,200
= 7,200
02 ==29gtl 5,000 0 5,000
OXt2gl 5,000
= 5,000
202 O4Hl 27,000 24,000 3,000
= 27,000




2A: sS4
H: NEE sHE MAD|E 5
SRl DER SUEN AHIER DB = (ctel- e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
01 =2WAbI 27,000 24,000 3,000
O=WAHbI 27,000
= 27,000
SY BdHe A =5 230,000 297,000 67,000
201 et 30,000 149,000 A 119,000
01 ArR2t2lbl 30,000 149,000 A 119,000
OAIHA 28221 5,000, 000& 64 & 30,000
307 OSI2t0l & 100,000 148,000 A48,000
02 OI2tZAE X 20,000 68,000 A\ 48,000
OEdH M2 BIE 29
10,000, 000& *2JH A~ 20,000
04 QIZIHAIE X 80,000 80,000 0
OLEZ sH 88 Il
40,000,000& 23] 80,000
403 XXISHHSA20|H 100,000 0 100,000
01 XXHHIA2EX 100,000 0 100,000
OE8 RPC 2SEME E2E A
200,000, 0003 *2IH A~ *25% 100,000
S EHidHl X 80,000 80,000 0
308 XXIEHHMSOIA 80,000 80,000 0
01 XXNHMBIAEXZ 80,000 80,000 0
O et X2
4,000& *100, 000X CH *20% 80,000
HHSAAH| (S A 79,800 79,800 0
Jl=Zl 75,600 75,600 0
J|l22Z| 75,600 75,600 0
201 829y 37,800 37,800 0
01 ArR2t2lbl 37,800 37,800 0
Osdgex=x 37,800
202 O4Hl 37,800 37,800 0
01 =2UWdbl 37,800 37,800 0
OsdgRFx 37,800
ol 2y 4,200 4,200 0
AR =AY 4,200 4,200 0
203 YRF&Y| 4,200 4,200 0

_13_
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